lame:

Time: 1m 30s

Silver Award Test 3 and 4 times tables

X 3= Ox4-=
X 3= 7x4-=
X 4= 16 + 4 =
P + 4 = 2x3-=
2 x 4 = 11x3=
X4 = 20+4-=
1 x4 = 2x4-=
71x 3= 6x3-=
4x4-= 3x9:=
1-3= 33+3=

3xbH-=

12 x 3 =

10x 4=

8x3=

6x4-=

4 x8-=

8x4-=

10 x 3 =

32+4:=
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Time: 1m 30s

Silver Award Test 3 and 4 times tables

l x 3= Ox4-=
X 3= 8x3-=
x4 := 16 + 4 =
2+ 3= 2x3-=
P x4 = 9+3:=
X 3= 24 -4 =
1l x4 = 2 x4-
71x4-= 6x4-=
4x4-= 3x9:=
B+ 3= 11x3-=

3xb-=

12 x 3 =

10x4-=

7 x3=

4x6-=

4 x 8=

6+2-=

32+4:=

10 x 3=

36 +4-=



